Age Related Questions

By ADITYA RANJAN







Mm.C
ent = (é; S 1wt =5
'HSY( | 3anit ey
q:q
M= 3p
C 8¢

govt. exa BY ADITYA RANJAN SIR

At present, the ratio of the age of Maya and
Chhaya is 6 : 5 and fifteen years from now,
the ratio will get changed to 9 : 8. Maya’s
present age is:
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SSC CGL Tier - 1

(b) 24 years

(d) 40 years

(a) 21 years
(y( 30 years
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or all govt. exa BY ADITYA RANJAN SIR

gl- At present, the ratio of the age of Maya and

=i5ipoc Chhaya is 6 : 5 and fifteen years from now,

the ratio will get changed to 9 : 8. Maya’s
present age is:
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(a) 21 years (b) 24 years
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-2 1. At present, the ratio of the age of Maya and
M= 6x+5 =9 Chhaya is 6: Sxand fifteen years from now,
c Sx+5 38 the ratio will get changed to 9 : 8. Maya’s

present age is:
) 48X +120:\USX +13S  odw § W st B w A HT I 6:5 ¥
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i - SSC CGL Tier - 1
Ox - QXS 30 (a) 21 years (b) 24 years

\M 30 years (d) 40 years
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Ratio of the present age of a mother to that
of the daughter is 7 : 1. After S years the
ratio will become 4 : 1. What is the
difference (in years) in their present ages?
Ush |l 37T Ik dA2T i FauTd 3T &l 3791
7 :1 %594 GG g AU 4 : 1 B AT
39! qAUT AT | 37T (99 W) FTd Hi

SSC CGL 2020

(zf 30 (b) 28

(c) 29 (d) 31
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30Vt. exz By ADITYA RANJAN SIR

The ratio of present ages of A and B is
7 : 8. After 6 years from now, the ratio of
their ages will be 8 : 9. If C's present age
is 10 years more than the present age of
A, then the present age (in years) of C is:

A 3T B @i 9dHE 371g &1 39U 7 : 8 & 37)
H BE 99 Ad, Ikl AT 1 374 8 : 9 FOI
afg C i FAHM 1T, A Hl TAHME 3T F 10
ay ifaes €, 9 C & FauE g (a9 §) AE

ch{l|
(a) 56 \(y/SZ
(c) S9 (d) 45
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g X7 A B8 4, The ratio between the present ages of A
P> /;\5 QI @ gand B is 3:5. If the ratio of their ages five
5=

Ny 13:20 | 26:uo ears hence becomes 13:20, then the
\— present age of B is :

e A 3T B & GduT g & AT 3:5 §1 A
O 99 &g 3T 3T T TuTd 13:20 B AT«
€, d B &l adur 31y §:

CGL 2019 Tier-II (18-11-2020)

(a) 32 Years b) 35 Years
(c) 30 Years (d) 40 Years
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9. Eight year ago, the ratio of ages of A and

B was S : 4. The ratio of their present ages

lunit =8y is 6 : 5. What will be the sum (in years) of
the ages of A and B after 7 years from now?

33 3T a9 Ugel, A 31T B i 31T &1 319414 5 : 4
+ | o 3

mml?ﬂﬁﬂﬁ\mWWﬁéz\S?W?
—— 7 @4 @@, A 3T B H Y W A (F€ H)

fera=r grm?

SSC CGL MAINS 29 JAN 2022

(a) 80 (b) 112

(c) 112 \(ay102
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030 8 .(0 6. The ratio of the ages of A and B, four years
ago, was 4 : 5. Eight years from now, the
lunit =YY ratio of the ages of A and B will be 11 : 13.
@ unit =,lj’rWhat is the sum of their present ages?
+8Y< o 94 gd A 3T B @ 3T &1 AT 4:5 4T
Aftr INE) mﬁmaﬁmAaﬁrBaﬁmm‘W
11:13 EM 39T FauTa 3T a1 A0 -1 87

A48 Qdunit - 80\{ SSC CGL 4 June 2019
\MBO years, (b) 96 years

(c) 72 years (d) 76 years

-4Y
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7. The ratio of the age of Ram and Rahim 10
years ago was 1 : 3. The ratio of their age
lunit = sy five years hence will be 2 : 3. Then the ra-
unit = Leyr tio of their present age is
10 o9 gd W 3T TEW H TG & A 1:3
aqTI UTSr 99 AE Ikl Y I AT 2:3 EAN
W IR FAUTH 3T N AT E

(a) 1:2 (Y3 :5

(c)3:4 (d)2:5
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8. The ratio of present ages of two brothers

( 113 is 1 : 2 and S years back the ratio was 1 :
-bY b & lunit=Sy 3, What will be the ratio of their age after
= M S years ?

+SY( 31 WIEAT W AAAT TG T AU 1 : 2 § 3N
599 Y FIUTE 1 : 3 4TI 5 qY GG IThl AY
T 3TUTd ST B2

(a)1:4 (b)2:3

\(5y3:5 (d)5:6
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The ratio of the ages of A and B is 3 : 4.
Four years ago, the ratio of their ages was
S : 7. What will be the ratio of the ages of
A and B four years from now?

A 3T B &l 39 &T 37U 3:4 §1 9F a9 Ug,
ST 3T T U 5:7 9T 3@ ¥ 9N a9 a1
A 3T B &l 311 T 3T UTd ST BAN?

SSC SELECTION POST - PHASE

(a)6:7 (b)S:6
(c)4:5 ( + O
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10. The ratio of the age of a father to that of

B X% = 1002 his son is 5: 2. If the product of their ages

in years is 1000, then the father's age (in
years) after 10 years will be :

F-S0+0=60 @ﬁmmﬁmmm?ﬁmﬁm

5: 2 ¥ afg aut § IR Y T TUHEEA 1000
£, @ 10 a9 &g fuar &t g (F9t o) g

(a) 50 \qyréo

(c) 80 (d) 100
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The ratio between Sumit and Prakash age
at present is 2 : 3. Sumit is 6 years younger
than Prakash. The ratio of Sumit’s age to
Prakash’s age after 6 years will be

FauT W JiHa 3T WeRT9T Wl 3T HT U 2:3
£ g, wh1or | 6 99 BT 81 6 a9 @e {ia
W1 3Tg T WhT9T i 3719 & U &M

(a) 2:3 (b) 1 : 2

(N4 : 3 \(4)3 : 4
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The ages of Fatima and Ahmed are in the
ratio of 3:8. The sum of their present ages
@ The difference of their ages is:

IfaT 3R STEHE W 3G T U 3:8 T IART
TAUT 3T T ART 44 T §) SR G HT A E:
CHSL 26-10-2020 (evening shift)

(a) 30 years (b) 11 years
(c) 24 years \(d)éo years
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13. The ratio of present ages (in years) of a

father and son is 15 : 8. Six years ago, the
ratio of their ages was 13 : 6. What is the
father's present age?

U fuar iR qF &t F@auE g (a9 W)
3T 15:8 §1 BE Y UgeA, SR TG T U
13:6 T Tuar =t F|u™ 39+ 872

CHSL 19-10-2020 (evening shift

(a) 65 years (b) S8 years
\13)/45 years (d) 78 years
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14. Six years ago, the average of the ages of
Ravi, Mohan and Govind was 32 years. If
Shyam joins them now, the average of the

R+m+51@'9 35y> ages of all four of them is 36 years. The

present age of Shyam is:

9% a4 Ugel, U, "igd 3 Tfde @ 3mg
dEd 32 a9 4n Ife vam 3E I9E W9 T3
m‘g Fﬁﬁmﬁmmwaﬁm%mﬁgu

(a) 35 years (b) 32 years
(c) 40 years \(;11/30 years
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Six years ago, the average of the ages of
Ravi, Mohan and Govind was 32 years. If
Shyam joins them now, the average of the
ages of all four of them is 36 years. The
present age of Shyam is:

9% a4 Ugel, {fa, O AW Tifde @t 3 g
dEd 32 a9 4n Ife vam 3E I9E W9 T3
?n?n‘g Fﬁ“ﬂmﬁzﬁrm?ﬂaﬂm%aégu

(a) 35 years (b) 32 years
(c) 40 years MO years



The ratio of ages of A and B, 8 years ago,
was 2:3. Four years ago, the ratio of their

ages was 5:7. What will be the ratio of their
ages 8 years from now?

8§ @9 Ud A 3T B @l 319 &1 U 2 : 3 Tl
N Y UH, Ik AT KT U@ 5 : 7 AT 34
T 8 I a1 SRl 3TY T 3TUTA T BT

SSC CGL S March 2020 (Morning)
(a) 7:8 7 4:5

(c) 3:4 (d) 5:6
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Five year ago, the ratio of the ages of A and

i

B was 3 : 4. Five years from now, the ratio
of their ages will be 4:5. What is the ratio
of A and B, 10 years form now ?

Ul 96 Ugel, A 3T B i 33T T FUE 3:4
g7l & | Uie 99 d1d, Iqah! AT T 3UTd 4:5
M 1@ 10 99 & ®U U A 30T B & UM
& E7?

SSC MTS 22 Aug
(a) 9:11 (b) 6:7
(c) 5:6 (d) 7:9
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Ramesh is three times older to Suresh.
After two years Ramesh’s age will be twice

the age of Suresh. What is the current age
of Ramesh.

THYT, |IIT | &9 TAT a7 &1 A a9 AqG THIT Hl
3T TIIT i 3T &t FOHET g THIT Rt FAHTA
3T AT 77

(a) 4 \(by6

(c) 3 (d) 2
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6:5. What will be the ratio of respective
+%Y ages of A and B, 9 years from now?

U 18. Omne year ago, the ratio of the age (in years)
1Y Lunit = 2Y of A to that of B was 4:3. The ratio of their
P 2tnit = wny respective ages, 3 years from now, will be

U a9 U, A Wi 37 (F9l §) W B @i Mg

Y 1A 4:3 9Tl 37@ ¥ 3 99 &g Ikl wardd

12y
Sy
HATY ST A7UTE 6:5 BN 37/ § 9 I6 &g A 3010

B @hi WaTdd 3ATg &l 3A7UTd a1 g7

SSC CGL Tier II 11 September 2019

(a) 7:6 (b) 10:9
(cy9:8 (d) 8:7
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19. S years ago, the ratio of the age of A to that
—cy Lunit = SY of B was 4:5. Five years hence, the ratio

Unit = 1o of the age of A to that of B will be 6:7. If,
at present, C is 10 years younger than B,

6: 7 then what will be the ratio of the present

age of Ato thatof C?
A= ac S @9 UEel, A Shi 3Tg 30T B ahi 30Tg k1 379
B"So %:% 4:5 9T UTH A9 AT, A i 3 AT B ®H AT
(= 9, S T AU 6:7 ENM AfE, Fdu ¥, C, B ¥ 10

a9 BIET &, a4 A hl U= AT 3T C H Fad
AT ShT AT AT 2
SSC CGL Tier Il 12 September 2019

(a) 3:2 )'S:4
(c) 4:3 (d) S:3
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@ The ratio of the ages of A and B, 8 years

p-rk) ago, was S : 7. The ratio of their ages, 8
years from now, will be 9 : 11. If the present
age of C is 13 years less than that of B, and
the present age of D is 8 years less than
that of the age of A, then the sum of the
present ages of C and D, in years, is:
8§ @4 Ud A 3T B @h 3(TF T 31U 5:7 4Tl
Ad W 8 U &G Ikl MY kT 31UTE 9:11 T
afg C & FaurE 319 B &R 31 ¥ 13 99 &0
%, 3T D 1 IdarT 39 A W 3T # 8 A &u
£, @ @ui § C 3T D H Fau= ;1Y K AN E:
(a) 47 (b) S5
(c) 43 (d) S3
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F+5S=52 21. The sum of the present ages of father and
a son is 52 years. Four years hence, the
(s+u) = L (F+u) 1
Y son’s age will be Z that of the father.
=) uUs+lg = F+yY What will be the ratio of the ages of the

son and father,10 years from now?

:) MS - N - ¢ - ¢ &
*12:=52-5 faar 3T U =1 IaurE 3 o1 9 52 99 g

:% SS?L‘D ) L y 1
waém,qammﬁmmmmf
B 10 99 ATg UA W fuar @t g @ e
ké:sq T BI?
|:q (@) 2:7 b) 2:5

(c) 3:8 \d)1:3



